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(2 Figures on the right in\% mar
(3) Take assumption whenever necess
1 Answer following: (anyséve f
(1) Differentiate bet e nstances' and 'Schemas’.
(2) What is multi- \%ﬂ pe/ndency ?
(3) What are hedlsad Jzages of normalization ?

In which cghhl%tyv you need to de-normalize the database ?

14

(4) State differe between column level and row level
aints
out rul ﬁerlved from Armstong's axioms.

ntlate etween partial key and primary key

G) Li
(6)
)

12(/ Answer the following : (any three) 18
\ @ /Draw an E-R diagram for student information system.
/iiffj‘ \\fj(b')/What is sub-query ? Explain the execution of sub-query.
‘/ “ Also explain IN operator. -
\ \\ ///, () What is DBA ? Explain the responsibilities of DBA.
\\; ;j;jj// (d) What is the purpose of normalization ?
Write a note on BCNF.
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Answer the following : (Any two) 14

(@ Differentiate between generalization and specialization. .
Explain generalization with example. /x
(b) Explain file processing system. Explain three major

disadvantages of this system. <\x

(©0 What is purpose of mapping cardinality ? //\
Explain it with example. )
i P //13’\\::://
\! O
Answer the following: (any two) \\\:/)f‘ 14

(@ Write anote on various types of attributes. "//’:‘\ O

(b) Differentiate between weak and strong ep%se\N

() WrFite a note on strong entity set. Discus a\cehj;rol
statements and their functionality. VN NS

(
{

N AE

Consider following relations. /,,fu
Player (PID, Name, Type) /x
Bowling (PID, OverNo, BallNo/ﬁ\un)

(@ Consider above tables féd/d\e\:\c\ide
Try to convert it into 4th normét\l/f

/)
/

o

mal (if possible).-

(b) Using above tables so(v/éﬁﬁﬂ\l\ wing queries : 5
(1) Create PID Feﬁgnj«‘})‘/ in Bowling relation. <
(2 Display total n
(3) Displaxbalyhdeécending order or run.
\¢

(4) Display O rNo that have more than 6 balls and
\g\\?Nehra".

ivered b
(5) isplay the total Batsman available in player table.

/? of balls delivered by "Irfan"

Display’'the name of player whose name's second letter

%and name length is 10.
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